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Ma (n=223)

(207Pb/206Pb)o= 0.8061 ± 0.0043 | 0.0085 | 0.0116 
MSWD = 1.9, p(χ2) = 3.2e−14
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 MSWD = 0.8, p( 2) = 0.87
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 MSWD = 1.8, p( 2) = 0.0014
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MSWD = 1.5, p( 2) = 0.028
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MSWD = 3.2, p( 2) = 0
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MSWD = 0.88, p( 2) = 0.78
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age = 9.636 ± 0.094 | 0.190 | 0.345 Ma (n=39)
(207Pb/206Pb)o= 0.7524 ± 0.0038 | 0.0077 | 0.0140 

MSWD = 3.3, p(χ2) = 5.2e−11
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age = 8.75 ± 0.11 | 0.22 | 0.33 Ma (n=35)
(207Pb/206Pb)o= 0.742 ± 0.010 | 0.021 | 0.032 

MSWD = 2.3, p(χ2) = 3.8e−05
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age = 8.03 ± 0.18 | 0.36 | 0.58 Ma (n=51)
(207Pb/206Pb)o= 0.7404 ± 0.0036 | 0.0073 | 0.0116

 MSWD = 2.5, p( 2) = 1.9e 08
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MSWD = 2.3, p(χ2) = 5.5e−05
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age = 4.54 ± 0.35 | 0.70 | 1.45 Ma (n=76)
(207Pb/206Pb)o= 0.7595 ± 0.0033 | 0.0066 | 0.0138 

MSWD = 4.3, p(χ2) = 0
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age = 11.27 ± 0.11 | 0.23 | 0.26 Ma (n=54)
(207Pb/206Pb)o= 0.8012 ± 0.0032 | 0.0064 | 0.0072 

MSWD = 1.3, p( 2) = 0.093
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age = 11.30 ± 0.34 | 0.69 | 0.81 Ma (n=28)
(207Pb/206Pb)o= 0.8037 ± 0.0046 | 0.0095 | 0.0112 

MSWD = 1.4, p(χ2) = 0.093
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age = 9.89 ± 0.21 | 0.42 | 0.51 Ma (n=45)
(207Pb/206Pb)o= 0.8021 ± 0.0034 | 0.0069 | 0.0083 

MSWD = 1.4, p(χ2) = 0.032
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age = 11.23 ± 0.37 | 0.75 | 1.24 Ma (n=53)
(207Pb/206Pb)o= 0.7579 ± 0.0056 | 0.0113 | 0.0188 

MSWD = 2.7, p(χ2) = 3.3e−10
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age = 9.28 ± 0.50 | 1.02 | 1.11 Ma (n=38)
(207Pb/206Pb)o= 0.8261 ± 0.0025 | 0.0051 | 0.0055 

MSWD = 1.2, p(χ2) = 0.2
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age = 6.13 ± 0.19 | 0.39 | 0.47 Ma (n=36)
(207Pb/206Pb)o= 0.8302 ± 0.0079 | 0.0160 | 0.0190 

MSWD = 1.4, p(χ2) = 0.053
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age = 10.60 ± 0.16 | 0.33 Ma (n=41)
(207Pb/206Pb)o= 0.7317 ± 0.0062 | 0.0126 

MSWD = 0.92, p(χ2) = 0.62
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